STTHESH2H (£ER)

P T R SR ST T ONES) e H

e fif R R 96  hv
(s L B )
ik H178 K R (ce) - ok AR
o s, — — fiité A — — — —
A w0k | KRS 7 bt G | ) | ) P H ) | i) | gl

101|R#A7 L 698 413 285| Kg |EE 1,404 108| £ 2,160 216
102|357 L 1,891 1,891 Kg BIE 1,593 555
111|&EEF £ 377 91 286| Kg |EiE 756 378| =40 1,944 216
113|RAV S 32 25 7| Keg |EE 1,296 324| ) 2,376 1,620
114|B5EFE 128 128 Kg e 2,970 1,620
15[ 1= 7 3 4 Keg |EE 1,728 648| & 3,024 3,023
117[1E 237 55 182 Kg |EE 1,458 378| K& 3,780 324
121|hbixE 44 33 11| Kg |EE& 1,404 540 |15 2,160 864
134[#= = 300 100 200 Kg |Ei& 2,800 2,400| £ 3,240 2,160
137|&5ES. < 26 13 13| Kg |BE 324 216| K% 3,780
138|Hm % 2 23 23| Kg FE 540
140(5 I 18 18 Kg Fifi 45,360 27,000
147|EZ O 96 96| Kg 8 13,500 6,000
168|BIEM AL H 223 223|  Kg IR 2,430 1,620
201|{Lb L 622 622| Kg BE - A=)l 540 126
203|/Né L 44 2 42| Kg |EE 270 35 378 324
205|5u8 L 90 90| Kg £4fH 1,152 936
206| 1 295 295| Kg G 713 216
208| Mo % 558 20 538| Kg |fIFL 594 L 1,944 216
210{1F AL 172 156 16| Kg [wuO 4,320 2,106 | ik 2,106 1,350
212|&5E.3 Y 361 361| Kg Ko - BiE 2,700 1,450
251|< £ <3 539 539 Kg |F&E 3,564 2,700
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254|ED12ELCA 812 812 Kg = I 2,592 1,166
3031 A 7Ly 246 246 Kg 5B - RIF 864 500
305[£Aah 0% 38 38 Kg FN 4,320 1,944
306(\We kY 18 18| Kg i 1,296

3191 h o 852 145 707 Kg |&I 810 756 (A3l - A 1,728 656
3321 WA =EF 241 241 Kg i 4,537 1,728
3BlHHY 58 5 53| Kg [#E 3,564 w5 20,520 3,564
3541 <Y 145 1451 Kg =% 3,240 1,296
3/5|HEY) 155 155] Kg EE - hE 1,836 600
356|L LA 25 25| Kg SER 1,350 864
357\ E 57 57 Kg FEE 10,800 945
362| & 94 94| Kg FJE 3,456 612
401|H W 58 58| Kg FAN 2,052 1,836
4025 5 &E 15 15| Kg A0 5,724 5,508
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RN L 31 31| Kg F 1,500 378
AEBRA AT 407 407 Kg 3 4,200 528
BRECEZV 41 41| Kg & 1,728 1,560
TRER 80 80| Kg JtF 1,296 972
BRI 257 257 Kg ome - M 2,680 1,850
AR 120 1201 Kg JtF 4,590 1,620
RS S 10 10| Kg 73 2,808
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70110 BA 54 30 24 Kg |uE 2,192 & 1,890
71019 2 ®HA0F 66 66| Kg = I 756 675
54T AE 7 71 Kg FJE 1,234
755(Fd L 37 37 Kg E=AES 1,274 594
56| £ 9 8 8] Kg SR 1,188
7611 b BHAEL 24 241 Kg AL 2,520
76713725 W\ H 116 116| Kg Z1 5,100 1,800
B01[IBAL = 1S 636 636| Kg tmE - mA 2,646 486
802|1 x| 84 84| Kg gl 1,814 702
8051 1E 434 4341 Kg JbiF 1,274 432
807 [18H D F 6 6 Kg bF 5,076
810|FAKXF 218 218 Kg biF 3,664 1,674

1/1




